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1 eh w o § =3 € | 19, gt storan ofver |1 Five boys are sitting in a row. Ravi is not
Frepeza i e 2 IE, G ¥ Freeeey 78 3o adjacent to Suresh or Anil. Anubhav is not
2 | d, W % Freeey 33 2 | Wrga 9fE § mey A adjacent to Suresh. Ravi is adjacent .to' Mflhfm
3T} | S e sl s A Sar 2@ o Mohan is in the midc.lle in {;he row. Anil is srttn_li
frefore § & fres Freeey A 29 aF t:.he en.d on the right side. Then Am%bhﬂf:’ 1
sitting adjacent to whom out of the following *
) g (1) Mohan
(2) 'Q:'l'?l’ (2) Suresh
3) @t 3) Anil
(4) W (4) Ravi _
(5) W & 1 =R (5) Not attempted
S=ffag § : 2. Select the missing numbers from the given
I ﬁqz:;g;r:ﬁigmm{;zqﬁ:q = R options that will cdlgnplete the number series.
0,2,6,_?_,20,30,42, 2 ,72,90
0,2,6,_? 20,30, 42, 2.,72,90 PRy
@ 123% 56 (2)° 18and 48
(2) 183w 48 (3 12and 48
(3) 123 48 (4) 18 and 56
4 183 56 (5) Not attempted
(5) I T G =rEd Bet DRI e ;
8.  You are a Finance Minister of any country. There
oY TH %‘-i‘[ ¥ fg Wt § | %ﬂ £ m 'Ef .qa 'is_rece'ssliog in the economy of that country. What
o é 2| o ‘nﬁ:{ A 35T FTH ITH 2 : best action would you take ?
1A i 5 o | [l ol Gl i
e ket maﬁi’! o 4 - (2) Divert the mmd of the public to other
2 @Fﬁﬂﬁﬁwaﬁﬁaﬁ'{"ﬁ%ﬁl - issues. e
(3) g oYl ¥ 99 YR & HT ITA HAA | '.(3) Try to borrow money from other countries.
(4) IiatedE i § o WW?ﬁﬁ | (4) _Try to get money from international
(5) I8 %T-H 313% _ agencies.
. (5) Not attempted
'mﬁ(x)wmw%?' e B e
85, 46, 59, (x), 91, 110, 181 O 4 . Whatigthoyaluen: () m theserien
a5 e : 35, 46, 59, (x), 91, 110, 131
! 1) 74
(2) I8, ; b @ 79
(3) 84 (3) 84
@) 64 @) 64
(5) IR TRl &A1 =Ed (5) Not attempted
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5. Frfafea § fim v 1w Hifsw | 5. Find the odd one out.
(1) frEm - (1) Farmer — Plough
(2) oftE - FES -(2) Labourer — Spade
(8) wgE — I (3) Carpenter — Saw
(4) TffdHR — T (4) Lyricist — Song
(5) TR S &A1 =Ed (5) Not attempted
6. =uREEE ﬂﬁm 3 R e A I TR e 2 6.  Select the option that is re_lated to thc'a third term
~N—— e Tt A R | in the same way as the secom% term is related to
the first term.
AT BT 12:72::6:7
(1) 28 (1) 28
(2) 18 (2 18
@ 64 (3) 64
(4) 46 4) 46
(5) IR T & AEQ . : (56) Not attempted
7. 9w = gﬁq M el 1g ¥ I uHR Hﬁlﬁ\lﬁ 2|7.  Select the option that is related to the third t,erm
58 =R T Ug H‘Fﬁiﬁﬁ %qﬁﬁ uq q _ in the samg way as the second term is related to
Mma :AMm :: Ppr:? . eam it _
(1) Rpr : Mma: AMm:: Ppr:?
(2) RpP (LR
3) Prp (2) RpP
(4) RPp .- Frp
(5) we T T A W At
T o Ex (5) Not attempted
- z‘g;j?ﬁ? W_Hj{:q ﬁma; mﬂzm s 8. Select' the combination of numbers so that
TP o5, S S _ ‘the letters arranged accordingly will form a
DU O P X Mo meaningful word :
1 2 3 4 5 6 D UOP _ I M
. | 1 28456
1y 8,8,1,2,5,4 (1) 6,8,1,25,4
(2) 4,8,1,5,2,6 (2) 4,8,1,5,2,6
@) 4,3,2,1,6,5 (3) 4,8,2, .1, 8,5
4) 4,8,2,5,1,6 (4) 4,8,2,5,1,6
- (6) I = (6) Not attempted
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Numbers and their letter-codes are given in the

9. Frfoleaa amoft # et afic 3% avfge Ry # : |9 S il
ot ollowing table :
=RERERRY | e
SRR e e 4 P o me sisy vl Letter-Code| K | E | F | Y [ P | L |
Feag &9 Y fow o fredt 7 ¥ FHAT R | You have to find out which option has the corI‘.eCt
(1) YEPK coded form of the number group 8637.
@) YLEP (1) YEPK
(3) YPKE (& ELED
o 2. 2=
(5) I a:n ElT‘@'a z (5) Not attempted
10. W& A’ ¥ I Al oF T a@ A el (10, In a local bus which starts from city ‘A’ the
HeT gEE i wen § S‘Tﬁ 2| A VI B W number of women is twice of the number of men.
7 wfgemd Iadt & of 11 98y §d HEaR Bd 2 | 3| In the next station ‘B’, 7 women get down gnd
eNi 3 afgernett it den s @ | EIE 5 11 men enter the bus. Now the number of men
TRy T Haw w 9 and women is equal. In _the beginning how many
@ .18 passengers entered that bus ?
@) 45 (1) 18-
(3) 36 Ky
(4) b4 W =
(5) I E G =T | il -
_ (5) Not-attempted
11. 9 U 7 weg & 49Ul 1 AW e S0 FgF S|
' - 11. Find out the word which cannot be formed b
a Hs{zmzm o | using the letters of the given word. i
. SEPARATE
A (1) TREES
(B TEARS (2) TEARS
. - o
- ' {4) PARADE _
(5) I T A e - (5) Not attempted
12. 3R feeft g w1 # TRAIN aﬁ S“?ZHM + ¥ H 12. Ifin a certain code language, TRAIN is coded as
Feag T i &, o 3% 2 90 A DATE | 5qu1M, then how will DATE be coded in that
YR Feag fran smom ? ' same code language ?
(1) CZTE | (1) CZTE -
(2) CZTF . (2) CZTF
(3) CZsD “(3) CZSDh
(4) CXSD (4) CXSD
~ (5) I & e - (5) Not attempted
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13.

14,

15,

A Tt % arg i Frwd fog g § 1w @
| i A e ot werl A wea W g T ol
A T @i =9 & wH-avd fFeed g 7w
8 Frerera/feem £ |

wff T fafgaf €

oft wr fafgat 81

Tt fewor W |

M =t feror ferfgai & |

an oo T RE |

(I % fafeat feor & |

FT :

Fad [ 3k 11 Feed &
Fae 11 a2
e T 3 1T fera &
e 11 3R I fFrererat §
ST AR A1 =Ted

(D)
(2)
(3)
(4)
(5)

Pyl 3 & A v R A2

(&)}
@
(3)
(4)
(5)

625:5
108 :'9
42:4
48:6 _
SO AE T A

@aﬁﬁﬁmmmgmﬁm “rg
W 3 o7 % 0 1 ueh 2 17 sifea %1 38w

13.

14.

15.

ey
(2)
(3)
(4)
N6

Three statements followed by three

conclusions. Take the statements to be true even

are

if they seem to be at variance from the commonly
Decide which of the given
conclusions logically follow(s) from the given

known facts.

statements.

Statements :  All rats are cats.
All lions are cats.

All deer are lions.

(D All deer are cats. -
((II)

(TI1) Sor:;‘le cats are deer,

Conclusions :

Some deer are rats.

(1) Only I and III follow-
(2)
(3)
4)

(5)

Only II follows

0n_iy I and IT follow
Only IT and III follow -
Not attempted

Find the 6d(i onel;.)ut.

625:5

,108' :9

42:4

48 : 6- _

Not attemi:téd‘ :

Pointing towards a girl, Ankit said, “This girl is
the wife of the grandson of my mother.” How is

T HEY R 7 - Ankit related to the girl ?
(1) = (1) Uncle |
@2 (2) * Son

@) =g (3) Father-in-law

4) o (4) . Father

(5) I = & -u'rs?f (5) Not attempted
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16. Toum fre s gm0
(1) Ut
2) et
(3) A=
(4)
(5) I A A

~17. & # g & P fawe s 0
(1 aa':q+$at=mhﬁi .
L@ AR+ T = T
ia) uﬁw“ém—mﬂm _
(4) =t +3E= :zﬁﬁa
(5) mqfﬁimara%

18, ‘o H mmmém r"érm'%ﬁ%ﬁ g

= % fag mﬁmmwﬁmwﬁeﬂnm
ghw | . ]

{ 21.:

122.

20.

D R A 5 T A T A S Bl G RAR

gury
I AR <7 TR

S’ wieg % fore shua iy @1 == FRT |

(1)

@

3)
(4)

Foail8)

AT T TEATHA

srraer # wefera aromd

et 3o s1gran @A i TRl 1 FEAR S
TUTET 1 HIEHHT o o0

'maﬁfamma'

ﬁnf%rﬁaaﬁmﬁmﬁ‘nw&fmqawa‘éﬁu‘a‘
3ﬁT'H'EITFI%‘?

(1)
@
A3)

(4)

Mo (8

_awf‘a%ﬁm%;m% 133;
mﬁ%aﬁuﬁr e
afq R e - g

e % wft — srrfvT

aﬂwt!’f%maﬁs%

@ s %ﬁ?ﬁm%%qaﬁﬁiﬁ%wsaﬁ:ww |
(2 s e
_ o S ) TS
(38) AT ' S (2)"18'&!3
Gy s % (3) W&
i (4) W= :
. 45), - Tl S e . (5) IR T I T
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23. VA@F ez form fpen-fasiew & gefe 2 0 27. fam-fag & g & fiofafes 3w § 4 agw 3@

(1) Tt e &1 = i |
(2)  He fEfrm () 3 g, o TR 17 - o e
13) 7a fran-fago (2) WWWI-WW%‘{
(4) Nfirp Grn-frdor 3) TSt oA e @l ® |- ol fem

(5) W AE 3T wE (4) T A A TR A 2 2 - 7 g

(5) AT @l &1 =&

24, Sra # AR A, fReR dar e w5 st P
T2 9 - (28 St ferart s 4

- Hﬁ&?@ﬁﬂﬂﬁ;q%ﬂ ST EE § Al W AT S AR
(2) - 9| H axg fomd 7 :

. . (1) =afdish ITAhR H1
(3) TSl § HR I Ar=d et 3 98 2w & '

-(4) T % YeEa & foe 3fud wue w1 gAE savas
2 S '

(5) WA G AEd

(2) T FEER F
(3) WM FABR Fl
(4) i s
© (5) . I AE < =R

25. BT W . TG R

929. ‘Tiur e Rt b
(1) = R

o M) I
R ‘ X @ ,émﬁa
R @ gpemia
O e e T g e @ Fewia
G LA o, T ® wdmam

a6, . srfber Sy e e b B 1 ' T '
ISR TR W0 80. ‘w1 g3 swima e 2 wE |

@ ~‘=m (1) =+ 3 ==/q
@ | @) T + 3T =T
@ & ¥ ges @ Waosmeaw
“ ?ﬁ:[. o ] @) I+ = o
(5) I T AR . (5) v T A
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31. Choose the correct alternative to improve the|Read the following passage and answer questions
Fnderlined part of the sentence. If no|35, 36 and 37.
1mprovement is required, your answer is (4). ;
g i . If T had been asked in my early youth whether I
In this Je:t age, everyone 1s interested in having | preferred to have dealings only with men or only with
an easy life. - books, my answer would certainly have been in favour
(1) to having easily life’ of books. In later years this has become less and less.
(2) forha lif Not that I have had so much better experiences with
e S men than with books. On the contrary delightful books
(3) had easy life even how come my way more often than purely
(4) No improvement delightful men. But the many bad experiences with
men have nourished the meadow of my life as the
(5) Not attempted noblest book could not do.
32. Fill in the blank with the suitable preposition. 35. Which one of the following statements best
He boasted his diches reflects the main argument of the passage ?
RS ith o (1) It is the experience with other human
== beings that nourishes one’s life and not
(2) about necessarily books. .
(3) at (2) Neither men nor books give any worthwhile
4) of experience.
i (3) Books 1 better than men.
(6) Not attempted 3) 09 YD ALNATE DItor ;
(4) There are more purely delightful men than
83. Find out the correct mdlrect speech form of the purely delightful books.
following sentence. _ (5) Not attempted
He said to her, “You cannot see the chairman.” 36. The author says that in later years his love of
(1) He told her that you could.not see the books diminished because
- chairman. (1) he had given up the habit of reading books.
(2) - She was refused to see the chairman. (2) even the bad experiences he had with men
h - uld : th ~ were more valuable than what the noblest
(8) He told hgr tﬂ at she co not see the books could give.>
chiairma, - (3). *he did not get many delightful books to
(4) He told her that he cannot see the Sdad. -
chanman, ' ~(4)- he had better experiences with men than
(5) Not attempted with books.
(5) Not attempted
34. Choose the word which is opposlte in the :
. meaning of the underlined word : - Which one of the pairs of phrases best helps to
; bring out the metaphorical meaning of the
tances of courage.” g
“History sbounds in inste £ ‘meadow of my life’ ?
(1) lacks (1) Well-nourished but dull life -
(2) shines (2) Poor but simple life
(3) failures (3) Pure and healthy life
(4) suffices (4) Vast and rich life
(5) Not attempted ; (5) Not attempted ot
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38.  Pick out the correctly spelt word. 43. In this question, there is a passage consisting of
(1)  inmaculate six sentences. The first and the sixth sentences
5 Smmecordits are given in the beginning and labelled as S; and
(3) imaculate Sg respectively. The middle four sentences have
(4) immaculate been jumbled u;.:;. These are labelled as P, Q, R,
S. You are required to find the proper order for
(5) Not attempted the four sentences. '
39. Pick out the wrongly spelt word. oy Hetred thodoor.
(1) difference S¢ He was careful not to touch anything.
(2) performence P. The room was neat and clean.
(3) reference Q. Then he stepped into the room.
(4) preference R. He waited for a minute or two.
(5) Not attempted S. It opened easily and he peeped in.
(1) RPQS
40. Pick out the antonym of the underlined word in (2) SPRQ
the following sentence. (3) PQRS
I saw her sitting motionless j.n her chair and (4) QSPR
gazing at the door. (5) Not attempted
(1) bending ‘ ;
(2) negatively 44, Choosta the correct active voice form of the
3) Tively following sentence :
@ Tlasily Sharan was being taught by Anil.
(5) Not attempted A) Apil is teaching Sharan.
_ (2) Anil had taught Sharan.
41. Pick out the synonym of the underlined word in (3) Sharan is teaching Anil.
the following sentence. €4) Anil was teaching Sharan
I cannot rest from travel; I will drink life to the. A5) Not attempted
r;;’s' give up ' " |45,  Pick out the_p.art of the sentence whi.ch has an
error. If there is no error, your answer is (4).
(2) accept :
@ i Some men are born great,
(4) encourage A
(5) Not attempted - some achieve greatness afnd
, B
42. Fill in the blank with the suitable alternative. some had greatness thrust upon them.
He wanted in the pool. ' C
(1) swim - : 1) B
~(2) toswim (2) A
(3) toswims 3) C
(4) to swimming (4) No error
(5) Not attempted y (5) Not attempted
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46. THEY B TH IR WA fr3 i fm 2| |46. Deenbandhu Chhotu Ram Power Plant is located
(1) TR in the district of
@2 R (1) Yamunanagar
2) Sirsa
). et E3; Panipat
(4) feum (4) Hisar
(5) I TR AT wTEd (5) Not attempted
47, wfEmn TS Y e wE @ 2 47. Which is the State capital of Haryana ?
(1) 9riga (1) | Panipat
(2) Wb (2) Sonipat
3) dETR (3) Chandigarh
(4) frar (4) Bhiwani
(5) I TE T == (5) Not attempted
48. A T e % Few A R 2y 48. I:;; z:::;a:a cave is situated in wlhich distriet
i (1)- Yamunanagar
(2) FoEA (2) :Kuruks]éetra
@) ot () Bhiwani-
) GHa : - (4) Sonipat
(5) IWT AL AT AES (5) Not attempted
49. TH- ‘Eﬁ 8t At g ° T a; SATEAT TS §5@Iﬁ ﬁﬁ % |49. During rainy season, which river becomes the
ITE T &I BT R ? . major . cause of floods in Ambala and
iy 7 Kurukshetra dist.;ict_s of the State ?
(@ A (1) Marka.ncllfa River
@) hl (2) Rakshl R.wer
(3) Tangri River'
@ TR (4) Hakra River
(5) IR TR 3 S (5) Not attempted
50. m%mﬁﬂﬁﬁqW“ﬂé ?
50. Whlch State Iles to the South-West of Haryana 9
xS H%RT (1) Uttar Pradesh
@ : ~ (2 Punjab
(3) 3dU@s (8) Uttarakhand
). (4) Rajasthan
(5) TR A &A1 A ' (5) Not attempted .
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51.

52.

33.

55.

arfia 6 diedl @2 men we o %
= @dl |

(1) =R

(2) ®9

(3) Wiemg T
{4) ST IR e
(5) SR TR oA AR

7R | afamn
(1) Hium

(2) WEUEH

(3) =& Hfga

(4) wum

(5) I TR I =&

Eﬂwmﬂﬁmmhmmﬁwﬁ%?
1) = ;

WT{N%I

(2) == 2™
- (3) Wmaﬂ%'—ﬁ

(4) TRrgaii i

®) mﬁiﬂiﬁ'&

Freiffian 3 & w-an g 1 wfeensit w1 iR
uftar 2, SiY geed t forag % e foun s @ 2
@ HEwas” i SesIman gt
@ gl . L e
3) wife g T
@ wafm

(5) T AE A 5

T 39 R 3 e B 4 2

1) <l ==

(2) <had Wk iz g

(8) =yt g @

(4) =l T T

(5) 3T T G =iTed

51.

H2.

53.

54.-"

55.

The Third Battle of Panipat took place between
the Maratha rulers and _

(1) Babur

(2) Hemu

(3) . Mohammad Ghori

(4) Ahmad Shah Abdali

(5) Not attempted

In the Mahabharata, Haryana has been called

(1)  Krishidham
(2) Bahudhanyaka
(3) Jaya Sambhita
(4) Haridham
(5) Not attempted .

~ What is a Phargal/Fargal in the traditional attire

of Haryana ?

- (1) Shirt

(2) Children’s cap

(8) Fulkari odhani -

(4) Infant’s shirt
(5) Not attempted

Which of the following is a traditional costume
for women in Haryana, which is given to a bride -

.at the time of marriage ?

" (1) Dimach

(2) Gumati

" (3) Mandiya

(4) Lahariya
(5) Not attempted

Whu is the founder of Bhakra Dam Projedt ‘?
(1) . Choudhary Bansi Lal ‘
(2) Choudhary Ranbir Singh Hooda

(8) Choudhary Bhajan Lal

(4) Choudhary Chhotu Ram

(5) . Not attempted
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56.

57.

58.

59.

60.

(D)

(3)

~(1)
@)
5

gﬁawnﬁ%aaﬁaﬁ‘%ﬁfﬁrﬁrgaﬁ’_’a‘rﬁa%méo

(2)

Fffaa # @ 2020 # s 343 G siaddy
req wen, wieam &1 o7 @2 S o1 ?

(1) TR

(2) FWEeW

(3) UYS=

(4) Temr=e wew

(5) ST TG ¢ =S

wfieyE” (HICA) %) wumar sfemn # frg wm
w®? |
(1) fER

(2) e

(3) Ugda®

(4) TEUH

(5) I AR

g & faerd wfe fae fre @@ @ wew wE
g2

feerm o

Blehl

ST

(4)  yfén |

(5) I T T e

%ﬁmwﬁmﬁmﬁ%%?
1%811 ' :
¥, frar

IO FE1 31 =ed

()

(2)

(4)

T ?
(1) 2014
2016
1994
2006

mqﬁ%ﬂ‘ﬂ'&'ﬁ

(3)
4)
(5)

56.

57.

58.

59.

@
(5)

Which among the following was the Theme State
in the 34" Surajkund International Crafts Mela

(2020), Faridabad ?
(1)
(2)
(3)
(4)
(5)

Rajasthan

Uttar Pradesh
Punjab

Himachal Pradesh
Not attempted

Where in Haryana is the flying training centre,
“Haryana Institute of Civil Aviation” (HICA) set

up ?
(1)
(2) Bhiwani

(3) Rohtak

(4) Gurugram

(5) . Not attempted

Pinjore

Ha.rvin‘dér Singh, a sportsperson from Haryana,
belongs to which sport ?

(1 '
(2)
(3)

‘Discus Throw
Hockey

* Archery
Shooting
Not atteﬁlpted

Where is the Chinkara Breediﬁg"Center located
in Haryana ? ; '

(1) - Pipli, Kurukshetra

(2) Hisar

(3) Kairu, Bhiwani

(4) Morni, Panchkula
(6) Not attempted

Which year was declared as the “Girl Child Year”
in Haryana ?

1) 2014
(2 2016
(3) 1994
4) 2006
(56) Not attempted
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61. TRAT SHIRE “draen ¥ awEen” w5 e 2 61. The meaning of the Haryanvi proverb, ‘Tawla se
(1) m@immﬁﬁw—amgl _ Bawla” (draal ¥ 51a) is :
(2) WEwyU wEl H W@ﬁ[ 5 Tewd w (1) The hasty person’s discretion becomes zero.
HAT | . (2) Doing an unimportant work in the absence
(3) =g H gon H gud o ¥ S ¥ | of an important work.
(4) el @ gEl A gam TE ww | (3) Evil spreads faster than good.
(5) ST F&l &A1 =raa (4) Selfish people do not care for others.
. . (56) Not attempted
- i "3 e Rt ¥ TS W 2018 H 62, Which of the following sportspersons won the
Flt H HTE Teh e 2 bronze medal in Wrestlmg in the Commonwealth
(1) AMYER gW Games 2018 ? :
(2) «fid e (1)  Yogeshwar Dutt
(8) hfcrept S (2) Babita Phogat
(4) form B (3) Geetika Jakhar
(5) ST T 1 9rEd (4) Vinesh Phogat
- o (5) _Not attempted
B R e P 9 P e 63. Amorig the fo]lowing piayers from | Haryana,
2020 ey # SR T, %*“ ? " who won the gold medal in Tokyo 2020
(1) g ‘.?TIﬁ Paralympics ?
(2) waft ufes (1) Sunita Sharma
(3) g sifed ~ (2) - Sakshi Malik
@) wWgmfm (3)  Sumit Antil ,
: '(5) I T &1 =R (4) Ravi Kumar Dahiya
Mi'aﬁawnﬁmuwﬁﬁsqﬁﬁmmﬁﬁﬁm VHTSSERI by |
& 2 | 64. Wholwae the first person to be bestowed with the
TR : title of .the State Poet in Haryana ?, _
(2) I THEE (1) Bhai Parmeeand
3) st gt T ._{.2) - Uday Bhanu Hans A
. - (8) Shri Khushi Ram Sharma
(4) =g a@E : _ - ALY
: (4) . Kavi Chand Bardai ,
(5) I E & iﬂi?f
(5) Not attempted .
65, Tiar F swm ?@Tﬁ '73»"58%3’ Eol aflIEt’T! FWH F\C[ ﬁ HTT 65 The very first verse of the Glta descnbes 8
2? ~ ‘Kurukshetra’ as
(1 Wf@ﬁ' (1) Dha.rmkshetra (place of nghteousness)
2) fenda (2) Shikshakshetra (place of learning)
(3) e (3) I R'enkshetra(plaee of battle)
@) Ig&x (4) Yudhkshetra (place of war)
(6) IW &l o =TEd : - (5) Not attempted
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66. SIIY TEV Y9 g (JCBC) FY oA %9 gﬁ 2,/66. When was the Jatayu (Conservation Brgeding

@ edt fig 3@ ¥3 (VCC) ¥ =9 & s s Centre (JCBC), earlier known as the Vulture
ly Care Centre (VCC), established ?

. | ' (1) 2011

@ 2 ' (2) .2007

(3) 2016 _ &) 2018

(4) 2001 (4) 2001

(5) Not attempted
(5) I AET <1 ATEd

67. ﬁﬁaaéﬁaﬁamﬁmmﬁ;ﬁaaﬁm_ﬁﬁm
wgo%mmn*?

In which year was the number of seats in the
Haryana Vidhan Sabha increased to 90 7

(1) 1966 (1) 1.966
-(2) 1977 (2) 1977 .
3) 2001 (3 2001
(4) 2008 s r @ 2008
(5) I TdI i:ﬂ RS = (5) Not attempted

68. TR T % 3w A e T A R o 68. Haryana State is divided into how many

dafrmre ? divisions for administrative revenue purposes ?
(1 8 (1 8 ' '
(2 5
(2 5 | @ 6
(8) 6 B e 1, R = 4) 3 : : .
(4 3 : (5) Not attempted . =
(5) I A I A= e
: - 69. The Mahabharata war tonk place in Whlch region
69. < HEMRA 1 g BRAN % fopw & i gawm o 2 ; of Haryana ?
- (1) grigd ' - i (1)  Panipat
‘(2) fak . - vo s _ © (2) Hisar .,
3) QER' . el £ (3) Jhajjar .
© g 5 Nos st
(5) I TE &M itra'% g _ _
70 Il SR 2011 % SR, Seee iﬁ‘ R ohs CORE thelce’::s :fa:diafzgi;, Haryana is the
e O
(1) vYg&ar., : ' (1) fifteenth
(2) wREE _ _ @ eleventh
@ wEaEl | UL e | (8) kenth
(4) STeREal ' (4) eighteenth
(5) : TN q—gf ECIle | o % e . (5) Not atteinpted
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71.

72,

73.

afe §Een x, gal e y ¥ 10% w5 & @ gen y,
1258 10% 3ifes 8, @t x ST U9 2 -
(1) 143
2 150
-(3) 12375
4) 14055
(5) IR &l AT =T

©75)°

1-075
1 3
)
(3)
@
®)

+[075 + (075)% + 1] 1 YATCHH 1 e B -

[ R e

I TE AT =

15 39, 18?%@&&1233%@31&@3?{%
T 2 & ¥ 2070 FW ¥ | AR O gV, 0 whwen
3 TH @SS & ofFh I H U 4:3: 28, @

71.

72,

73.:
"“earned ¥ 2070 in a day. If the daily wages of a

. (075)°

(B

AT A R AT s

If a number x is 10% less than another number y
and y is 10% more than 125, then the value of x
is:

(n
(2)
3)
(4)
(5)

143

150

123-75

140-55

Not attempted

The positive square root of

+[075 + (075)% +1] is :

1-075
(L 3
@ 4
1
2

@

(4) |
Not attempted

15 men, 18 women and 12 boys working together

1 g%, 2 wfgenedi o 3 @ehi 1 3w 997 (3T H) man, a woman and a boy are in the ratio of
8 S50 4 : 3 : 2, the daily wages (in I) of 1 man,
1) 205 SN 2 women and 3 boys are :
@) 240 D 205
(3) 135 (2) 240 -
(4) 180 - (3) 135
(5) I FEI oAl =R (4) 180
' S (5) Not attempted
74. R T 516 fH =AREA A, B, CH 36 W Eﬂ% s f& 74 If ¥ 516 are divided among three persons A, B, C
A B 25% it 3 BH C & 25% F9 W= 2, such that A receives 25% more than B and B
9 C %1 o 2 74 receives 25% less than C, then C’s share is :
) %192 1 T192
(2) T 204 (2) T 204
3) T 144 (8) T 144
(4) ¥ 180 (4) <180
(5) I & &A1 =R (5) Not attempted
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75. U FAfh A T 6,000 6 awqd @O au 39§ § e [75. A man bought goods worth ¥ 6,000 and sold half
10% o™ W 59 & | 99 F g7 fray sfiwa @ w of them at a gain of 10%. At what gain percent
RIS LRI Fd 25% A &l ? must he sell the remainder so as to get a gain of

-(1) 35% 25% on the whole ?
(2) 40% (1) 35%
(3) 25% (2) 40%
(4) 30% (8) 25%
(5) I G <A e 4) 30%
(5) Not attempted
76. | ?: ﬁ ?Qﬂ?@? m; %ﬂ' ia's;; 7@ Three equal cubes'f, are placed adjacently in a
: - row. Then the ratio of the total surface area of
Fii %ﬁ‘?ﬁﬁ AT A S R the cuboid formed to the sum of the total surface
1) 5:9 areas of the three cubesis:
@ 18 1 5:9
3 1:3 @2 7:9
(4 2:3 ' (3 1:3
(5) SR T ¥ = 4 2:3
| | | (5) Not attempted

77. T AW % 9@ 500 TR = 8, Free w w5 . - i
8% 1Y U Il & G 99 18% @Y W A=al & | 29| 77. A merchant has 500 kg of sugar, part of which he
Rl =R dgetem Bt L s e il e
?ﬁﬁ}@m% ifl‘-f;ug-arso?d at 8% is: | . : ;
(1) 200 fom .

@ 180%_;_11 9 10k
i (3) 300kg
) 2enism (4) 220kg
(6 ‘et i (5) ' Not attempted

78.. ¥ 20,000 ThFE W W 2 A6 H T 22,260-50 B 78, T 20,000 amounts to T 22,26050 in 2 years at
T 2, FEfE S arfie g g B | & R compound . interest, compounded annually. The
3 T _ : rate of i_nterest is:

(1) 55% (1) 55%

(2) é% @) 6%

3) 5% 3) 5%

(4) 525% 4) 525%

(5) IR TEl & = : (5) Not attempted )
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79. 10,000 % Fhee #) @ demd N 2, 3,4, 5,679 7|79, The two numbers nearest to 10,000 which are
¥ o 2t 3 %: exactly divisible By eachof2,3,4, 5,6 and 7 are :
(1) 9660, 10060. (1) 9660, 10060 | -
(2) 10080, 10340 @) 10080, 10340
(3) 9660, 10080 ) 9660, 10080
(4) * 9320, 10080
i il (4) 9320, 10030
3 (5) Not attempted
80, 100 41 100 ¥ =9 gl 9wt ot 3fa ﬁﬁﬁ % AT |80. The sum of all proper fractions whose
AR denominators are less than or equal to 100 is
(1 2124 1) 2124
(2) 2475 | (2). 2475
= _22%_ @) 22%
(4) 1925 ekl
&L (4) 1925
(5) SR TE A AR
! (5) Not attempted
81 IM124+2243%4 . 4102-385 3, A 81. If 12 +I22 +324..+10%= 335,' then
(22 + 42 + 62 + + 202) TR R : (22 +424+ 62+ ..,}2“02)' is.eqml.to %
1) 1156 ' @ - 11§85 . s
(2) 885%385 (2) 385x 355
@ 770 @) 770 |
(4). 1540 4) 1540
(5) I T & 7’"33 (5) Not attempted :
82, az. + b2 1_.02'_ Cp g _0'.%, Wa:bicd: |82 if_az +_b2 +c_2-alg-bc-ca_= 0,thena:b:ec is:
M) 1:2:1 : bt o5 @) 1:2:1
@ 2:1:1 @) 211517 -
@) 1:1:2 (8) . 1:1:2
@113 £4) 17121
(5) I G a’rﬁ% (6) Not attempted
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83.

84.

85.

A,so_ﬁaﬁwgm%ﬁaﬁwﬂ%ﬁaé%ém%
W%Bmﬁwﬁrﬁﬁﬁﬁ%ﬁ‘nﬁﬂwﬁm% | 3t
TR BT 10099 6 Th wEARIY H Hid w0 § 35
Tt =2 @t ot am 2 firerent o = 3

(2)°
(3)

(4)
(5) ST &I <A1 9Ed

@ it 3 o =R & s T 30,000 49 T 50,000
W | T % AW A I T 16,000 AW WH A |

e S, S {5 % S st | v @
fepa-ferae @y firem 2 :

(1
@)
(3)
(4)
(5)

T 7,400, T 8,600
T 7,500, T 8,500
¥ 7,000, T 9,000
T 7,200, T 8,800
I G &A1 =

w5 g TmE 100 feh/da i shew @
et & T w75 el % g 3 e % forg vt

% | oo farg @ 600 oreft T o1 TiAed wowEER % |

85.

83.

- (5)

(2).

A takes 8 hours to copy a 50-page manuscript
while B can copy the same manuscript in

6 hours. How many hours would it take them to

. copy a similar 100-page manuscript, if they work

together ?

(1) 9% hours

(2) 14 hours

(3) 6% hours

9 hours

4)

Not atfempted

Two friends invested ¥ 30,000 and ¥ 50,000 in a
business. They earned a profit of ¥ 16,000 at the
end.of the year. One half of the profit was divided
equally between them and other half was divided
in the ratio éf- their capitals. How much did each
of them receive ? .

(1) T 7,400, T 8,600

T 7,500, T 8,500 |
¥.7,000, T 9,000 L N

¥ 7,200, T 8,800 ‘

®)
(4)

(5) Not-_aftempted

An express train travelled at an’ averége speed of

100 km/h stopping for 3 minutes after every

- 756 km. How lOng did it take to reach the

forg 7 i o w27 ! destination 600 km from the starting point ?
(1)' 6 "ﬁ 27 fire | (:1) | 6 hours 27 minutes :

(2) 692 30 : (2) 6 hours 30 minutes

@ 6u21fme (3) 6 hours 21 minutes

@ e ufm (4) 6 hours 24 minutes

(5) I A A ilTE'% (5) Not attempted ~
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ot TR 9

86. 86. Whatis GUI?
(1) e e amgsfd (1) Geographical User Identity
(2) SIS ISR e (2) General User Instructions
(3) T I sewhiye (3) Gaining User Information
4) TiERe I . (4) Graphical User Interface
5) v T B S (5) Not attempted
87. Which of the following metals is moderately
87. Ti=feRed # & St urg wem srfrfransicr aig 2 2 reactive ?
1 g A 1) Al
(2) defEm (K) @ K
(3) A (Fe) n3) Ke
@) oW (Ca) &1 %s
&) v S (5) Not attempted
-88. Which of the following statement/s is/are correct
88. ﬁqﬁaﬁgﬁ i 8 wa-a e 3 g s about change of state of solid ?
afted % W A 7 e 2 : (a) The continuous supply of heat at melting
(a) . o | FEN hI Fraw gl & 3 T dEE point increases the temperature of the solid.
g S e |- (b)  The continuous supply. of heat at -melting
(b) TeHi® W FAT ﬁ ﬁm{ amyfd & 3‘[’5{ ?5 ICICt point does not change the temperature of
W B e TE A | the solid. i
(© TEEE W s R EFIT@ I T (c) ~ The continuous supply of heat at melting
. oo ot B 3_1 Sl ISJ:;::]tmg?::zut:;ed up in f:hanglng state frum
:ﬂ% féw e e & wedt faewew w1 = dﬁﬁm Choose the correct optmn from the codes given
(1) wad (b) below :
(2) & (o) (1) Only (b) .
(3) (2)7 (¢) G (2) Only (o)
(4 O () 3) (a)and(c)
(5) 3w T & < S @ and© .
_ . (5) - Not attempted -
89. saéu@aﬁ:—qgmr{ﬁﬁwmﬁmﬁmﬁw s Gk, .-
ot T =T TR ST 2 89.. Which State \;'vot:c;:l the most Film Friendly State
Y o s Award in the 68 National Film Awards ?
@) eraw ' (1) West Benga] '.
(2) 'Madhya Pradesh
Ay W (8) Maharashtra
il e (4) Telangana
(5) aﬂwﬁ&mﬁ (5)" Not attempted
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90. HERS, Fare sit @qrd (i)’ wra ¥ f5a%|90. ‘Maharatnas’, ‘Navratnas' and ‘Miniratnas’ are
arffestor € 7

classification of in India.
(1) = wgg & - (1) Mineral Rich Areas
(2) fasm anfifes & (2) Special Economic Zones
(3) TR w9 H (3) Civilian Honours
(4) THH &3 th ‘4)  Public Sector Units
(5) I & T = (5) Not attempted

91. ISR Y T YhEal & %ﬁ{qxﬂmm gfr [91. What is the name of the international

HHSE W WEEAl 0 91 AU Ted 'GFsT T A organization which facilitates cross-border police
27 ' _ ~ cooperation to combat international crime ?
(1) reEd A et (1) POLCRY
2) AshEFE _ o ; (2) SAFETYCOM
® St gt e @ wo
g ; ;i : (4) INTERPOL
& e : . (5) Not attempted
(5) . I FE A =Ed ' :
92. Whatis Anthracite ?
.. ey g (1) Itis the highest quality of hard coal.
1 %mmm WW% ! 2 It is the most popular coal in commercial
(2) %Wmﬁmmm%l s
3) %wﬁnﬁ%mwﬁmﬁm%l : (3) Itisalow grade brown coal.
) @8 gaEd iR T i = AE a,a | (4) It is a form of coal which is soft with high
w92 | . moisture content. :
(5) S e %' (6) Not Iatter_npted
93. srﬁ@!qgm W?JW g g :rma; aﬂa % a:qmﬁ 93. Which art form derives its name from the
. wiuswmRm e amUerd ? :  birthplace of the character Sita from the famous
i ; 5y . G Ll gpicﬁamayana 7.
Bpise ed (1) Mandola '
(2) e ) Mithila
{ (3_) Rl : : _ | (8 Vanshri
ool e R R R @ Gond.
(5) SWAL AR 5 - ot e ' (5) Not attempted |
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B L e O S e TV R T ORI Pt K TR OV LA LS P Wi e SR e e

94, 39 U qaRT
i T Ell X foem % TRl [94. What is the name of the software that is used for
(o T T % o Iv far g | |

maintenance and configuration of Computer

(1) FG'HIS'{{ LRG0 Systems ?

(2) Towem gRfw (1) Device Driver

(3) Aqfen fmy 2) System Utilities

(4) ST 9d Hiveam | (8) Operating System

(5) I & T 9= (4) General Purpose Software

(5) Not attempted

95. T M Ivwmew wwEm: adere I AT :
3 95. Virtual keyboards or Online keyboards are

AT TS Iqered A s |
. common_ly provided by Internet banking websites

(1) 3 fiyFa 61 3 3 g because e .
(2) FIBAGEAS foru 3fva & e ' (1) | they are faster_ than physical keyboards
(3) & warTRal & ferw 'ﬁﬁ?"ﬂﬂﬁ g ' (2) they can easily fit on small screens
(4) ¥yl B gifda aﬂ%ﬁ H urEas 1%7@7\7 i (3) they are convenient to the user

¥ (4)  they allow users to type passwords securely
(5) I AT &1 =TEd ' : :

(5) Not attempted

96. Fm=afafaa 4 @ aﬁqm Ee Wﬂﬁ'—l TFIATS % 91t |96. Which one of the following statement is no#

TOdt 7@ 2 ? ' ; correct about Blockchain tecl-mt)logy.?
(1) % & Thd e (Fat/=afw) % fog aiada (1) It is possible for a single member of the”
T 1 ST § decdld i 699 § | ; . network to make chahges or alter data,
(2) waa @t @ s % et e/ Wlﬂ | (2) Only the owner has access to the private
ET w12 |- _ data of the block.
(3) wiish B2 I UF GU&a et & Tl & | " (8) Ablock can be a secured chunk of data..
4) W TH wAH 4 HO R R, O gEH v Fh  .(4). Each block has some data calle(i its header,
ST &, 37 ¥ = ot Aigw W fewm R | which is visible to every other node.
(B smEmewE | | " (5) Not attempted
AMRA/D4/Page 21 . EEEH %ﬂz ¥ITH | SPAGE FOR ROUGH WORK A

~

Downloaded from www.cclchapter.com



97.

98.

99.

HAIAHTS 61 IgEwen (I7=3g 352) * yadd § g
R Fefafas & & fem @ ofer ® ke
77 foran s wemar 2 2

(1) g9 it wdza %1 At

(2) <fe waTar #1 sl

(3) dFR-TETGT T IAUHN

(4) Hwar &1 3fwr

(5) I A T =R

e fafer-am 58 wa 2

(D) Y Fafer-ds el Yow o Y ardn
Zoft & woe g H @S & wwd A |

Y Frafedm el amfe SRk %
firgia %1 wIem @ g gAE B¢ I A

T Tater-ae fad waemn gt § Faw
oy amfErm Aoft & v F W AT E |

e frataa-gm Rl Saw smfim Afm =
TR 0 w1 T O TR TR o
TTE @8 FH @ |

) IR TE ¢ =

(2)

(3)

(4)

gl franeti o Gumeel 3T gy F 9T

ﬁ@m%@aﬂtﬁﬁm%mﬂaﬁam
T ?

97.

98.

99.

(5)

The enforcement of which of the following
Fundamental Rights cannot be suspended when
a Proclamation of Emergency (Article 352) is in
operation ? -

(D
(2)
(3)
(4)
(5)

Right to Freedom of Religion
Right to Personal Liberties
Right to Freedom of Expression
Right to Equality

Not attempted

What is a reserved constituency ?

(1) A constituency in which only members of a
particular reserved category can stand for
elections.

A constituency in which elections are held
following the principles of proportional
representation.

A constituency in which the voter list
consists only of the members of a parttcu]ar
reserved category. -

A constl-tuency in which only those political
'parties claiming to represent reserved
categories can contest elections.

Not attempted

()
(3)
(4)
Whose teachings and  speeches  were

posthumously written and compiled by his
followers in the form of Tripitaka ?

(1) R (1) Kabi
) _ ir
@) e (2) Shankaracharya
® = @ Buddha
(4) wEER (4) Mahavir
(5) IR T <1 A& (5)  Not attempted '
100. vg watemor feam # 9§ 2022 ﬁ‘W—E@ (¢fm) [ 100. What is the theme of World Habitat Day for the
;e ? . year 2022 ? !
(1) “gurash ew, gaq e’ (1) “Inclusive . Development,  Sustainable
: Development’
@) wB i, T ”E', (@) “Cles I;{B't t, Healthy H
_ | =L ; an Habitat, Healt abitat”
@ "ot % forg (3) “Inclusive Devel : F ;1:1
! elopment Fo s
@ s w1 o W #%?ﬁ‘q’»’fe»ﬂtqéfﬁ? 4) “Mind The Gap : L Nro'
Wﬁ‘ﬂ@iﬂg” e P : Leave No One and Place
(5) IO TE AT =R (5) Not attempted
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